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“ LU 29l &112|F (Doolittle's LU Decomposition)
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25 5 1 1 0 0|[25 5 1
A=64 8 1 A=LU={256 1 0|/ 0 -48 -156
1144 12 1] 1576 35 1]|0 0 0.7
(25 5 1fb,]| [1] (25 5 1|b,] [O] (25 5 1|[b,]
64 8 1||by,|=|0 64 8 1|b,,|=]|1 64 8 1|/b,|=|0
1144 12 1|b, | |0} 1144 12 1|b,, | |0 144 12 1||b,,
(b, | [0.04762 ] b, | [-0.08333] b, | [0.03571]
b21 =\ — 09524 b22 = 1417 b23 = — 04643
_b31_ i 4.571 ] _b32_ L —5.000 a _b33_ i 1.429

0.04762 -0.08333 0.03571
A'=|-0.9524 1417 -0.4643
4571 —5.000 1.429
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det(A) = det(L)det(V)
MK dets )

25 5 1]
A=| 64 8 1
144 12 1
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det(LU) = det(A)det(B) = -84
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= Gauss 2~7{H T 8%+12n2+4—;
3
- LU s 7Y 1O o2 A0
3 3
% o A (ot an’
= Gauss A~HH 5 tien

n(=71) 10 100 1000 (10000
Gauss 27 &-8/ LU &3 &8 |3.28 |25.83 [250.8 |2501

NZ EX: http://numericalmethods.eng.usf.edu
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“ LU Z3i0AM L E= U7} B2 BR0|2t= AMef =10] g2, o
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< MatLab/OctaveOjA] LU £33}

A = rand(3)

[L, U, P]

b = rand(3,1)
bp = P*b

y = L\bp

x = Uly

pctave:23> A = rand<3>
H:

H.316537 H.768183
H.395887 H.7280864
A.A83118 B.871115%

o° oP°

H.848528
H.487354
H.186478

X

lu(A) % L*U =

y = L' Ly
x

= Uly Ux

octave:=24> [L, U, P1
L=

1 .88848 H.88848
H.21848 1.88848
A.79972 H.34280

U =
H.39581 H.72086
H.80888 A.67771
d.80888 d.80888

P =

Permutation Matrix

k- b=

h:

A.53763
A.68714
A.18339

hp =

H.68714
A.18339
A.53763

octave:43> h rand{3.1>

octave:44> hp = P=h

onctave:4h> u
y:

H.6871449
—A.8413302
A.AAZ66EE

octaves4b> x =
x:

1.8B76B686
—-A.861'7525
A.AA632251

octave 47> Axx
ans =

A.53763
H.68714
A.18339
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